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01 At 22l 32,580 30,790 1,790
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202 044 7,200 8,400 A 1,200
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OXMOH XM= FEAAE 25 AtH|
77,232,000 77,232
405 XtatE SHI 210 210 0
02 =M=l 210 210 0
ON2=+=g 23 =4 Pl 70,0003 32 210
B2 HBY (M22D) 91,889 82,566 9,323
o2 (MR21t) 40,863 36,882 3,981
ol 2HHl NMRAY (HR21tH) 40,863 36,882 3,981
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2 2,850
Al 1,425
T 10,725
01 At 22l 2,000 2,000 0
OM:-HESetdet=2a Jl=ZHdl 2,000,000 2,000
03 A2 Z HI 13,000 13,000 0
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M HENBEA QTEE
Sl BHHBEMNO 29 (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o dZE MII2I 1,000,000& »12& 12,000
o REESE K= 240,000 128 2,880
o M3 9,000,000& x12& 108,000
o dEIHE MEE 6,000,000& x12& 72,000
HEFZESUANLE &5 2 N 614,395 405,613 208,782
201 Let24dH] 187,060 125,113 61,947
02 232gHl 187,060 125,113 61,947
OQHUHES(IPT) ANAE RXNE> 54
147,060, 000& 147,060
OlLeDs Z & T A& FEHI = XHl
10,000, 000& 10,000
OHESH AM&EEHI SN 30,000,000& 30,000
401 Al HIZ 201 Y| 30,000 41,500 A 11,500
01 A& Bl 30,000 41,500 A 11,500
OFES4 SZMLSA 30,000,000& 30,000
405 TtatF S| 397,335 239,000 158,335
01 AL EFHSHI 397,335 239,000 158,335
OQHUUHESH(IPT) AIAE €O20lE
252,335,000& 252,335
O3 ESAAH A 145,000
oHILQEZ2HEH WH(HAZA, Haloa,
HA>O0tEE) 132,000, 000& 132,000
0o E33¢ HAE FH0I0I3Z & A A Ate
- 10,000, 000& 10,000
o ZUE HiHHel H= 04 3,000,000& 3,000
MEOIFCCTV 8% Y 29 1,955,065 2,107,709 A 152,644
Al 55,069
T 1,899,996
201 Let24E] 1,801,900 1,550,554 251,346
Al 55,069
T 1,746,831
01 At 2t 2l 8,047 7,727 320
OEANSE2SHEH 234 300,000& 122 3,600
O3J18&3J] ¥ =7 gX2 99,0008 128 1,188
OxE=+=Z(CTVEERNES EY)
1,258,080 1,259
OJI£EIAY =2 (CCTVEERXNES YY)
250,000& +8H 2,000
02 =224l 1,793,853 1,542,827 251,026
O233BLAA 627,090
o CCTV ¥ E3l&d AHEZ  48,370,000& 128 580,440
o CCTV ME3lH NEE(E2SE 1)
1,116,500& 128 13,398
Al 13,398
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B BNHPSN QHEE
Sl BHHBEMNO 29 (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o CCTV &IIR23 2,771,000 x12& 33,252
OEANSE2SMH ZLIHE 242
756, 133,000& 756,133
OCCTV EgRANEx Y 363,959,000 363,959
OZANSE2IHH 2LHY 89 (=S8 1)
41,671,000 41,671
Al 41,671
OMEOHMCCTV AIEEHl SXIHl 5,000,000 5,000
203 YR =&l 1,000 1,000 0
03 A F=XH S =AY 1,000 1,000 0
OZANSE2dH 29 1,000,000 1,000
401 AIEHI L 201 151,665 556, 155 A 404,490
01 A& Bl 151,665 554,955 A 403,290
OMEOHMCCTV A7 &X HAEH Y
49,665,000& 49,665
OMEOFHECCTY A XIS A0 E G0l &)
102,000, 000& 102,000
405 XtAtE SHI 500 0 500
01 AL EFH S 500 0 500
OZANSE2gdH d&20 72¢ 500,000& 500
CANSES2IEEH DS AHY 361,466 165,100 196, 366
401 Al HI X SO 320,000 110,000 210,000
01 A& Hl 320,000 110,000 210,000
OZANESE2YHE &3 SFIMLSA
320,000,000& =14 320,000
405 XtatE SHI 41,466 55,100 A 13,634
01 AR ESFH S 41,466 55,100 N 13,634
OXtet 22| AlAY 2H
41,466,000& * 14 41,466
HE2IZH (erd 22| nt) 97,706 104,676 26,970
el (et 2e ) 52,676 49,202 3,474
olARHHl M A (QHE 22| ) 52,676 49,202 3,474
101 14l 52,676 49,202 3,474
03 RIAHAZZ2THE = 52,676 49,202 3,474
Os2A 22X 52,676
oJlEa 1,899,220& »12& 22,791
o =4l 130,000& 122 1,560
o EEFItH| 2,279,060 2,280
o IHEY 40,000& 124 480
o AE2R+E 140,000& =128 1,680
o ANZ2+2A2 RS 9,023 *1.5+40AI 2t+12& 6,497




AN tA 2t
M #Y2IZH (erd2e )
CHel: ol oyl (eHE B2l 1) (Sl &)
SA - BB B () - MM - BES Ol &t o San HmEET
o RY2RE 9,0233 x1.5%8A| 2b*24 2,599
oZU EEHEH 10,000& *853] 850
o 24 759,688& 760
o El&3 (39,534,572& /12) 4 13,179
ZHl(etd el nt) 45,030 55,474 210,444
Jl2ZHl MEAS (A ) 45,030 55,474 210,444
201 Let24d]| 22,160 22,160 0
01 At 2teltl 22,160 22,160 0
Ogt=&H| 54,5003 x18H 128 11,792
O= &l 8,000 x18H x6A x 128 10,368
202 odl 17,280 17,280 0
01 = LH o4 1l 17,280 17,280 0
O2UHEF I 10,0003 «18H +8 « 123 17,280
203 ¥ S =&l 3,600 3,600 0
04 RN2EHRF 3,600 3,600 0
ORN2IEYR 300,000& »12& 3,600
405 RHoHF S HI 1,990 12,434 AN 10,444
01 AL EZFE 1,990 12,434 A 10,444
OARE 4 240,000 *3H 720
OolsAa M& 140, 0002 =34 420
OARE A Xt 170, 0002 *54 850
ES(ordzeln) , 187,653 1,088,746 98,907
WEAHAXE (& 22 , 187,653 1,088,746 98,907
HWEAHHXE MR A ( 2l 1) , 187,653 1,088,746 98,907
702 JISEES , 187,653 1,088,746 98,907
0MII3EES , 187,653 1,088,746 98,907
OMt2eld3 1,187,653,000& , 187,653
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A BN AD
M ABIHMHA HB
SR JIEBA L FUSS 29 (29 a8)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
S EEFEEETIEL
3,000,000& *23| 6,000
= 6,000
OoMsX 72 5,000,000& 5,000
= 5,000
OMRES 72 150,000& 102 1,500
= 1,500
HAUAHEX A 37,441 80,725 N43,284
= 35,140
- 2,301
AR EAd(agds & 2al) 37,441 80,725 N43,284
2 35,140
- 2,301
101 1A bl 32,621 76,005 AN 43,384
= 31,540
- 1,081
03 RIHAZ 22+ 32,621 30,088 2,533
OUAZRXA (45 8) 32,621
oJdlzg 1,878,900 »12& 22,547
= 22,547
o AZ2tel=¢ 9,612& *1.5+25A| 2t 128 4,326
= 4,014
T 312
o =4l 130,000& =128 1,560
= 1,560
o Qg 50,000& 123 600
= 600
o BEFOtHI 2,254,680& 2,255
= 2,255
o X4 9,612 *x8AI 2+ %10 769
o 24 563,670& 564
- 564
201 2yt 2 Y| 4,220 4,120 100
= 3,000
T 1,220
01 At 22l 3,000 3,000 0
Ol AIRES 72 3,000,000& 3,000
= 3,000
02 3323l 1,220 1,120 100
OvAEY Z22J EEEEE= 500,000& 500
OJtEZ2 ML Y sldR=s
30,000 *23| & +12& 720
203 R =&l 600 600 0
= 600
03 A BFAH S =AY 600 600 0




LB
M QIAHFEAMHIA WS
Sl AT CEEEED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAY IR 2E GRFAH| 600,000& 600
= 600
HH2LZH (20 AD) 101,964 122,918 A 20,954
ol 2H (2120l & D) 56,733 55,284 1,449
Ol 2HHl NS AI (2201 A D) 56,733 55,284 1,449
101 @144 dl 54,153 53,424 729
02 JIEtE B == 54,153 53,424 729
OLBIAIMSEH "UH"S 54,153
oJlEa 3,668,390 1 «12& 44,021
o Al2+2l==¢& 10,2993 «25A1 2tx1H 128 3,090
o NEE (X 40,0003 x 18 «128 480
o IHE=Y(JIEH 20,0003 x1H « 128 240
o AItE &Ml
3,668,390 *84%*86%+(1/30)*1H «10L 884
o ¥z Al 130,000& =122 1,560
o 8Nt = 3,878,000& 3,878
204 AR A H| 2,580 1,860 720
02 22 =4 1,980 1,860 120
OgBIAIMSEH "UH"S 165,000& =128 1,980
03 EZY 2 600 0 600
OLBAIMBSRA "U"s Heasy|
50,000& +x12& 600
Jl2ZH(e &) 45,231 67,634 A 22,403
Jl2Z8l MSAY (S0 AD) 45,231 67,634 A 22,403
201 et 23,391 38, 164 AN14,773
01 At 221l 23,391 38, 164 AN14,773
Oget=&H| 54,5003 x19¥ «12& 12,447
O=etl 8,000 «19H 641 « 123 10,944
202 oddl 18,240 24,000 A5,760
01 = LH o4 1 18,240 24,000 A5,760
O=&0tl 10,0003 x19H x8 x 12 18,240
203 YR =] 3,600 5,220 A1,620
04 EA2IYRFLH| 3,600 5,220 A 1,620
ORN2EYEF=AHI 300,000& 122 3,600




